RESIDENT BOARD REVIEW QUESTIONS 

SESSION NO. 2
Nov. 7, 2002

DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.

1. An anesthesia machine is set to deliver oxygen 2 L/min, nitrous oxide 2 L/min, and enflurane. After 30 minutes of stable anesthesia, which of the following is the most likely cause of a decrease in the oxygen analyzer reading from 50% to 30%?

(A) A leak in the ventilator bellows

(B) Accumulation of water on the oxygen sensor membrane

(C) Calibration at 100% oxygen using less than 100% oxygen

(D) Disconnection of the wall oxygen hose

(E) Presence of the oxygen analyzer in the expiratory limb


90B-84 (4,6)

2. While delivering nitrous oxide 1.5 L/min, oxygen 1.5 L/min, and halothane 1%, a leak in the oxygen flowmeter will most likely be detected by the

(A)
low airway pressure alarm

(B)
“fail-safe” system

(C)
oxygen analyzer on the expiratory limb

(D)
oxygen flowmeter reading

(E)
mass spectrometric analysis of gases

91B-33 (4)

3. Which of the following is true of both the neonatal and adult airways?

(A)
Epiglottic innervation is primarily vagal

(B)
Sniffing position requires placement of a pillow under the occiput

(C)
The cricoid ring is the narrowest part of the airway

(D)
The epiglottis has a relatively similar size and shape


(E)
The glottis is located at C3-4





       

90A-75 (5, 42)

4. If both recurrent laryngeal nerves were severed during a difficult thyroidectomy for cancer, the most likely finding would be

(A)
paralysis of the cricothyroid muscles

(B)
cadaveric positioning of the true vocal cords

(C)
anesthesia of both sides of the epiglottis

(D)
bilateral pure adductor vocal cord paralysis

(E)
stridor


90B-48 (5,17)

5. During steady-state intraoperative controlled mechanical ventilation, exhaled tidal volume will be increased by

(A)
changing to more compliant tubing in the ventilatory circuit

(B)
increasing fresh gas flow in the anesthesia machine

(C)
increasing nitrous oxide concentration in the inspired mixture

(D)
increasing ventilatory rate


(E)  moving the volume sensor as far as possible from the patient                                    

91B-52 (3,4,22)

6. Proper handling of oxygen cylinders includes

(A)
maintenance of storage room temperature above 600F

(B)
separate storage rooms for nitrous oxide and oxygen

(C)
opening the cylinder valve just sufficiently to register tank pressure accurately

(D)
storage in a room with conductive flooring

                 (E) opening the cylinder valve briefly before attachment to the anesthesia machine     

91B-56 (2,4)
7. During induction of general anesthesia in a patient with a supraglottic tumor, both intubation and subsequent ventila​tion via a face mask are impossible. A cricothyroidotomy is performed with a 16-gauge intravenous catheter. Which of the following statements is true?

(A)
Application of pressures greater than 35 cmH2O to the catheter will increase the risk for pulmonary barotrauma

(B)
PaCO2 can be maintained at a normal level using a standard circle system attached to the catheter

(C)
PaO2 greater than 100 mmHg can be maintained indefinitely using transtracheal jet ventilation with pure oxygen through the catheter

(D)
Emergency surgical tracheostomy would have improved the likelihood of survival

(E)
The presence of this tumor contraindicates jet ventilation via cricotbyroidotomy

91B-76 (5)

8. At extubation performed one week after nasotracheal intubation, each of the following is likely to occur EXCEPT

(A)
upper airway obstruction

(B)
aspiration after extubation

(C)
ulceration of vocal cords

(D)
tracheal stenosis


(E)
sinusitis

91B-109 (5)

9.
The pin index system

(A)
is not used in central pipeline connections

(B)
requires aligning four pins with four holes

(C)
is used on all sizes of medical gas cylinders

(D)
has been replaced by color coding of gas cylinders

(E)
prevents overfilling of gas cylinders

92A-65 (4)

10.
The fail-safe mechanism on an anesthesia machine is activated by

(A)
a wall-oxygen pressure of less than 25 psi

(B)
a disconnection between the endotracheal tube and the machine

(C)
a nitrous oxide concentration in excess of 85%

(D)
an incompetent expiratory valve

(E)
no oxygen flow

92A-100 (4,6)

11.
Oxygen 100 ml / min is bubbled through a vaporizer containing an anesthetic with a vapor pressure of 150 mmHg, and this mixture is added to a fresh gas flow of 5 L/min. The delivered anesthetic concentration is

(A)
0.25%

(B)
0.5%

(C)
1%

(D)
2.5%

(E)
5%

93A-96 (4)

12.
Which of the following is the most appropriate action after an anesthetic vaporizer is tipped?

(A)
Return to the manufacturer for recalibration

(B)
Flush the vaporizer with oxygen at 5 L/min for 24 hours

(C)
Store the vaporizer for 24 hours at room temperature

(D)
Set the vaporizer at low concentration and flush with oxygen at 10 L/min for 30 minutes

(E)
Verify the vaporizer output with mass spectrography

93A-102 (4)

13.  The patient at LEAST risk of pulmonary aspiration of gastric contents during induction of anesthesia is

(A)
markedly obese and NPO for eight hours

(B)
fed black coffee four hours before elective surgery

(C)
scheduled for elective cesarean delivery and NPO for 20 hours

(D)
NPO for four hours after a full meal

(E)
scheduled for elective repair of a hiatus hernia

91A-161 (5)

14.
Following extubation after nasotracheal intubation for seven days, a 35-year-old man has fever, facial pain, nasal stuffi​ness, and purulent nasal secretions. The most likely cause is

(A)
eustachian tube obstruction

(B)
frontal sinusitis

(C)
maxillary sinusitis

(D)
parotiditis

(E)
retropharyngeal abscess

92A-91 (5,47)

15.
A child has tachypnea immediately after reintubation for intractable laryngospasm. Oxygen saturation is 78% at an FIO2 of 1.0. A radiograph of the chest taken 15 minutes later is most likely to show

(A)
bilateral pleural effusions

(B)
diffuse homogenous pulmonary infiltrates

(C)
patchy central infiltrates of the right upper lobe

(D)
pneumothorax

(E)
segmental atelectasis at both lung bases

92A-117 (5,23)

16.
Blind nasotracheal intubation is contraindicated in the presence of

(A)
a basilar skull fracture

(B) a comminuted mandibular fracture

(C) an orbital blow-out fracture

(D) an unstable cervical spine fracture

                  (E)  a zygomatic arch fracture  



                                   

  92A-159 (5)

17.
Which property of oxygen is detected by the fail-safe device on the anesthesia machine?

(A)
Concentration

(B)
Flow

(C)
Pressure

(D)
Partial pressure

(E)
Reserve volume

93B-80 (4)

18.
In the event of a leak in the air flowmeter, which flowmeter arrangement produces the lowest risk for delivering hypoxic gas mixtures?
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93A-141 (4)

19.
A 24-year-old man who sustained multiple rib fractures in a motor vehicle accident has air leaks through bilateral chest tubes. Which of the following is most likely following initiation of high-frequency jet ventilation?

(A)
Airway pressure will be measured most reliably at the proximal (external) end of the endotracheal tube

(B)
Atelectatic areas of the lungs will re-expand

(C)
Changes in end-tidal carbon dioxide tension measured at the tip of the endotracheal tube will match changes in PaCO2
(D)
Hypercarbia will develop

(E)
The air leaks will be proportional to peak airway pressure

93A-159 (5,23)

DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing

A if only 1, 2 and 3 are correct,

B if only 1 and 3 are correct,

C if only 2 and 4 are correct,

D if only 4 is correct,

E if all are correct.

FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET

DIRECTIONS SUMMARIZED


 A
B
C
D
 E

1, 2, 3
1, 3
2, 4
4
All are


only
only
only
only
correct

20. True statements concerning modern flowmeters include:

(1)
The diameter of each flowmeter tube is constant throughout its length

(2)
The primary difference among flowmeters is weight of the rotameter

(3)
Changes in barometric pressure have no effect on the accuracy of flowmeters

(4)
The oxygen flowmeter should be placed nearest to the common flow exiting point

90A-144 (4)
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